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c (Computing of gravitational acceleration by Plumbmass)
¢ KAzuHIRO KONDO
C H.14 Jan.17

double precision dgx,gx,delta,d
double precision Pdens,G

double precision x,y,7,X0,y0,20,SX,SY,SZ
parameter (delta=1.0d0)

parameter (Pdens=1.135d4)
parameter (G=6.7d-11)
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¢ Observation point

C x0=2.0d2
yo=0.0d0
C z0=0.0d0

¢ Source mass
sx=1.0d2
sy=4.0d2
sz=3.0d2

¢ sub loop
do 190 zo=-1.0d3,1.0d3,1.0d1

do 150 xo=1.0d2,1.0d3,1.0d1
dgx=0.0d0

¢ main loop
do 100 z=-sz/2,s2/2,delta
do 50 x=-sx/2,sx/2,delta

do 10 y=-sy/2,sy/2,delta
d=((x0-x)**2.0d0+(yo-y)**2.0d0+ (z0-2)**2.0d0) **5.0d-1
dgx=dgx+dabs(xo-x)/d**3.0d0
10 continue

50 continue

100 continue
gx=G*Pdens*(delta*1.0d-3)**3.0d0*(1.0d3)**2.0d0*dgx

write(*,*) xo0,z0,gx
150 continue

190 continue

stop
end
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Acceleration [m/s”2]
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